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Whether according to Rabi Yehudoh, whether according to Rabi
Shimon, there is no difference, etc.

OVERVIEW
X211 said that both 777° " and 1w»w ' maintain 77°72 v whether he is ny72 7710
mxy, or whether he is >R ny72 790N,

m»oIN anticipates a possible difficulty:
- 119593 1199 199 PNV 23997 (3,19 91 parwy) 172990 Y93 HI93 Pr0NT 90 2N

And ' who concludes in 3°27p% %2 P95 that 777992 179% N9 w''9; this was said -
- 19N XY 1989 TIN P89 NI NIYN Y2 YU MNavY 29y 3990 1)

Regarding the Xn»72 which states, if one proclaims, ‘I am making an 219 for
all the 2°n2w of the year, if I wish I will go (utilizing the 217°v), and if I wish I

will not 02 the 217°v will not be effective for that naw)’ -
g
= 9995 2195Y 12190y O TIYaN NYI Nynv 2499 3‘[19’N 99 29 PronT

Where 51 concluded that we should reverse the ruling of the Xn>73, and instead
say that according to w'9 it is a valid 2y9° only if he wanted the 217"V to be
effective, while it was still day (Friday) —

mooIn responds:
$DYINN NPT NDIND MKY NYTA NYINA )2 PHN GO 29

"1 will need to differentiate (in the view of w"3) between 3y ny7a 7910 (like

the case of 217°Y, where the rule is 77°72 1°X) and 2998 NYT2 77930 (in the case of »"y
RaX 7¥7°w, where ¥'"1 maintains 77772 w°).

SUMMARY
noY 27 will distinguish between 12y ny72 7910 and 0°90R NY72 arguing with Xa1.

THINKING IT OVER

! The ®n»"2 there continues that if he made up his mind (whether the 217 should be effective for this naw), before
naw, it is effective, and he may walk two thousand N in all directions from the place of the 217°v; however if he
decided once Shabbos began, there is a dispute between w"2 (who maintains that it is a valid 217y, for we say ©°
7772) and the 2°non (who maintain that the 217 is not effective, since we maintain 7772 R).
2 In that case he will be able to go two thousand nx from his house in all directions.
3 o1 21 reversed the views of om3m "1 as it appears in our Xn*2 (see footnote # 1), so W' maintains 7772 TX.
The difficulty is that in our X3 we just concluded (based on the case of XaXk 7¥Ww n"y T9¥12 °177) that 2 R ¥
77°2 (even by MYy nvTa 790, like the case of "1 1> npY2).
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Why is there this need for mooin to explain the view of 7o 27 (that he
differentiates between ¥"72 7910 and X"72 7700), when from our X723 it is quite
evident* that X>w wn 27 (and X127)° also maintains this?

4R,m0.
5 See "2 NIX 0"Wwn NN on 2,70.
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